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She divides it by 3 and then subtracts 11

She then divides this result by 2

Her answer is 10.5

What was the number she started with?

WORKING

Help Code : 028

m | ara chooses a number less than 100 o

Show
your
method

Write the missing number.

One is done for you.

is 20 more than

180 » 160

is 20 more than

> 237

2019 Organiser Out Now... All-New Arithmetic Ninjas, Paired Domino
Activities, Self-Marking Papers, One Page Wonders and new Tutorial
videos for last Summer’s SATs. Try it free press here!
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Lara chooses a number less than 20
She divides it by 2 and then adds 6
She then divides this result by 3

Her answer is 4.5

What was the number she started with?

Show
your
rnethod

- .



https://www.youtube.com/watch?v=y6tiC8W7qjY
https://www.youtube.com/watch?v=q-Ypu7H4Oc8
https://www.youtube.com/watch?v=1-foPuJtfx0
https://www.tes.com/teaching-resource/2019-ks2-sats-revision-ultimate-15-in-1-maths-organiser-11989842
https://drive.google.com/open?id=1DQSgTL_ByD_-Lo1AR-d41QPzAGHkzbAZ
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BOOSUER
The numbers in the two trianagles .

add up to the number in the square.

Complete these calculations.
A\ 15 X 100 =

25

X 10 = 1500

Using the same rule, write in the missing numbers.

= 100 = 150

150 + 10 =

2011A KS2 Q7 » —

At what time did she leave home?
120

\ am

NER-A AR
Holly takes half an hour to walk from home to school.
She arrives at school at 8:25am.

Dev leaves school at half past three_

2010A KS2 Q23 & He arrives home at ten past four.

Write the missing number to make this calculation correct. How many minutes did it take him to get home?

N\

11 x = 1111 N

minutes



https://www.youtube.com/watch?v=hQKH6mZMFzQ&index=4&list=PLS3PH82bo0VDe9klJ5sY2Mfw12WyBmgEw
https://www.youtube.com/watch?v=OSWDszHcCAU&list=PLS3PH82bo0VAkEKofuCdfPUAD5mwjbv5U&index=19
https://www.youtube.com/watch?v=u60m30akKw4&list=PLS3PH82bo0VBN5y6ePJy8_v0zw611HJsJ&index=14
https://www.youtube.com/watch?v=jT0iUc7JLh0&index=25&list=PLS3PH82bo0VBN5y6ePJy8_v0zw611HJsJ

2011A KS2 Q6 Holly has a box of mints.

She has 10 friends. —
She gives them 5 mints each. /

She has 13 mints left.

How many mints were in the box at the start?

Misc) \

2010A KS2 Q6 Y&!!

‘to make the number in a triangle,
multiply the numbers in the two squares above it

Write in the three missing numbers.

6 3 8 10

AVA7AY,

QLR STAGELIN Sarah had a bag of cherries.

She ate 5 cherries, then gave half of what she had left to Liam.
Liam ate 5 of his cherries, then gave half of what he had left to Amy.

Amy got 2 cherries.

How many cherries did Sarah have in her bag at the start?

\

Show
your working.
You may get
a mark.

&

2012A KS2 Q5 Here is a number machine.

Write the four missing numbers.

o] (@
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2008A KS2 Q6

The numbers in this sequence increase by 75 each time.

&

Write in the two missing numbers.

725 800 875 950

)
S

Write in the missing numbers.



https://www.youtube.com/watch?v=moKCtfrD8yc&list=PLS3PH82bo0VAUYt9DB2Fmlhd1JQWarrbi&index=21
https://www.youtube.com/watch?v=lACjO__be8c&list=PLS3PH82bo0VBJMWhA_KgnmlCz7eYt4Ic0&index=25
https://www.youtube.com/watch?v=z-eqoFDB2EQ&list=PLS3PH82bo0VBdGoHWY0PRNLHEZaRU1Yqy&index=19
https://www.youtube.com/watch?v=jG4SoCQXaa8&index=21&list=PLS3PH82bo0VDe9klJ5sY2Mfw12WyBmgEw
https://www.youtube.com/watch?v=ggHj0NZD4h4&list=PLS3PH82bo0VAkEKofuCdfPUAD5mwjbv5U&index=20
https://www.youtube.com/watch?v=cLVFDELLlx8&index=2&list=PLS3PH82bo0VDe9klJ5sY2Mfw12WyBmgEw

QN EY AV |n this diagram the rule is Use the same rule to write in the missing numbers below.

YE!! ‘double the number in the square
7 and add the number in the triangl

to make the number in the circle’.
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Write in the missing numbers.

®

‘ + 85 = 200

‘ = 120

120 - b51 = ‘

2002A KS2 Q2 @

Write in the missing numbers.

s x 70 - [
4XD=200

2003A KS2 Q1 Write in the missing numbers.

55 + ‘ = 120

600 x 4 =

@)

Write in the missing numbers.

45 + = 110

(4 x B) - = 12



https://www.youtube.com/watch?v=2jPkm7AvwBA&list=PLS3PH82bo0VACc6WGPYZNEN468cuoU-Mp&index=23
https://www.youtube.com/watch?v=IYis5-aPxuQ&list=PLS3PH82bo0VDJAGKLywxQt-ny_SLKVqNu&index=26
https://www.youtube.com/watch?v=kbCggJX-m3c&list=PLS3PH82bo0VAiit-Ar3E596STjTK9BqKw&index=25
https://www.youtube.com/watch?v=PxwB_DAWgas&list=PLS3PH82bo0VCqE0GWRWRiDdD4jM58yTbl&index=25
https://www.youtube.com/watch?v=qLM5dluVIs8&index=21&list=PLS3PH82bo0VBgaF4RCu1nFganpFTSFBqV
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Write in the missing digits to make this correct.
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https://www.youtube.com/watch?v=c3xInBCaK_w&list=PLS3PH82bo0VCqE0GWRWRiDdD4jM58yTbl&index=17

